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ough used?

n
When are too and e

s excess, that is, the quantity or quality exceeds what is Conside
' T

The particle 100 indicate
necessary.

The particle enough indicates that the quantity, number or quality of something is Sufficient
epa

U “

o Complete the sentences with “too”, “enough”, “too many” or g,

much”.
The air conditioning is *OO - low. I'm freezing.
(b.) This basket is not big 6(0)%\0 —forall the shopping.

@ We have )'\'OO C’\@OL:) ____souvenirs.

— e
. —

—
D dbs & L
. - -—

Lmel S @ Yes, and | think there is '\fOC) C‘TUC\O —sugarin it.

- -
——
| - - —

Yes, but | don't think I'll have *OOO(\UCY\ _

@ We haven't got t\C}O C’L\C\’\ﬁ — money for the expedition.

AYQ’O dya‘(\(.ﬁ ~_carsand *OOLQCL)C\’\_ smoke from factories.

This vid ipi
@ video clip is good _ N‘C“QU%\'_\ —_towin the contest.

@ The electrical system in your house is ‘\'OO Q/‘UCh ~__old.

(J) Do we have l(m C’T-Eh

- salmon for everybody?

@ You don't knoy him well

, QT\OUCE)\(\ , to say that.
@Yes,butshetalks 3(% Q"Q)Ck\

Escaneado con CamScanner



g

@ Answer the questions using “too”,

@ Why can't elephants jump?

Cecase Yoe ace ery Yoo e

a\le
@ 2.Why can't a child drive a car?

BESe T s very oo aoml)

(t.) Why couldn't you solve the problem?

Geconte v Lyas very Yoo ok F ey

(4) Why couldn't he drink the coffee?

Brare he 18 ‘o g\kzn:&‘(c

@ Answer the questions using ‘enough’,
Why can't you buy a Ferrari?

Q’ECE'UT)C \ c)&d\'\uf \n'a\;e

@ Why can't Sue lift 100 kilos?

erog%h oney

_;.,M
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